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E–3073 

M. Com. (Previous) EXAMINATION, 2021 

(Compulsory) 

Paper Third 

ACCOUNTING FOR MANAGERIAL DECISIONS 

Time : Three Hours ]  [ Maximum Marks : 100 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 

vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- izcU/kdh; ys[kkfof/k dh rduhdksa ;k i)fr;ksa dks le>kb;sA 

Explain the techniques or methods of Management 

Accounting.  

vFkok 

(Or) 

mŸkjnkf;Ro ys[kkadu dh ifjHkk”kk nhft,A mŸkjnkf;Ro ys[kkadu esa 

fufgr dneksa dks crkb;sA  

Define Responsibility Accounting. Discuss the steps 

involved in Responsibility Accounting.  
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bdkbZ&2 

(UNIT—2) 

2- fuEufyf[kr lwpukvksa ls Je fopj.kksa dh x.kuk dhft, % 

izeki ` 

40 dq’ky iq#”k 60 iSls izfr ?k.Vs 50 ?k.Vksa ds fy;s 1,200 

60 vdq’ky iq#”k 40 iSls izfr ?k.Vs 50 ?k.Vksa ds fy;s 1,200 

 2,400 

okLrfod  

35 dq’ky iq#”k 56 iSls izfr ?k.Vs 50 ?k.Vksa ds fy;s  980 

65 vdq’ky iq#”k 40 iSls izfr ?k.Vs 50 ?k.Vksa ds fy;s 1,300 

 2,280 

From the following information, calculate labour  

variances : 

Standard ` 

40 skilled men @ 60 paise per hour for  

50 hours 1,200 

60 unskilled men @ 40 paise per  hour for  

50 hours 1,200 

 2,400 

Actual  

35 skilled men @ 56 paise per hour for  

50 hours 980 

65 unskilled men @ 40 paise per  hour for  

50 hours 1,300 

 2,280 
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vFkok 

(Or) 

ctfVax ls vki D;k le>rs gSa \ bldh D;k lhek,¡ gSa \ ,d 

izHkko’kkyh ctV ds vko’;d rRo D;k gSa \ 

What do you understand by Budgeting ? What are its 

limitations ? What are the essentials for an effective 

budgeting ? 

bdkbZ&3 

(UNIT—3) 

3- t;iqj izksMDV~l fy- ,d izekfir fdLe dh oLrq dk mRiknu djrh 

gSA muds o”kZ ds izFke 4 ekg ds ifj.kke fuEufyf[kr gSa % 

ekg mRiknu 

tuojh 50 bdkb;k¡ 

Qjojh 100 bdkb;k¡ 

ekpZ 150 bdkb;k¡ 

vizSy 200 bdkb;k¡ 

eq[; ifjO;; ` 6 izfr bdkbZ 

ifjorZu’khy mifjO;; ` 1 izfr bdkbZ 

fLFkj mifjO;; ` 24,000 izfr o”kZ 

lhekUr ifjO;; ds vk/kkj ij ,d ykxr fo’ys”k.k rS;kj dhft,A  

Jaipur Products Ltd. produce one standard type of article. 

Their results during first four months of the years are as 

follows : 

Months Output 

January  50 units 

February  100 units 

March 150 units 

April 200 units 
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Prime cost ` 6 p. u. 

Variable overhead ` 1 p. u. 

Fixed overhead ` 24,000 p. a.  

Prepare a cost statement on the basis of marginal costing.  

vFkok 

(Or) 

fuEukafdr vk¡dM+s lat; fy- ls lEcfU/kr gSa % 

o”kZ fcØh ¼`½ ykHk ¼`½ 

2011 50,000 2,500 

2012 45,000 1,000 

fuEufyf[kr dh x.kuk dhft, % 

(i) ykHk&ek=k vuqikr 

(ii) fLFkj ykxr 

(iii) nks o”kks± dh vfLFkj ykxr 

(iv) ` 4,000 ds ykHk ij lqj{kk lhek  

Following data are related with Sanjay Ltd. : 

Year 
Sales 

(`) 

Profit 

(`) 

2011 50,000 2,500 

2012 45,000 1,000 

Calculate the following : 

(i) P/V Ratio  

(ii) Fixed Costs  

(iii) Variable cost during the two years  

(iv) Margin of safety at a profit of ` 4,000. 
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bdkbZ&4 

(UNIT—4) 

4- fuEufyf[kr lwpuk ls x.kuk dhft, % 

(i) ldy ykHk vuqikr 

(ii) ‘kqYd lapkyu ykHk vuqikr 

(iii) ‘kq) ykHk vuqikr 

(iv) lapkyu vuqikr 

(v) dqy lk/ku ij izR;k;  

fooj.k 2011 (`) 2012 (`) 

fcØh 10,00,000 15,00,000 

?kVkb;s % fcØh dh ykxr 6,00,000 8,00,000 

        ldy ykHk  4,00,000 7,00,000 

?kVkb;s % ifjpkyu O;; 1,00,000 2,00,000 

        ‘kq) ifjpkyu vk; 3,00,000 5,00,000 

tksfM+, % xSj&ifjpkyu vk; 20,000 25,000 

 3,20,000 5,25,000 

?kVkb;s % xSj&ifjpkyu O;; 10,000 15,000 

        ‘kq) ykHk 3,10,000 5,10,000 

        dqy lEifŸk 50,00,000 55,00,000 

Calculate from the following information : 

(i) Gross Profit Ratio  

(ii) Net Operating Profit Ratio  

(iii) Net Profit Ratio  

(iv) Operating Ratio  

(v) Return on Total Resources  
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Particulars 2011 (`) 2012 (`) 

Sales 10,00,000 15,00,000 

Less : Cost of Sales  6,00,000 8,00,000 

          Gross Profit  4,00,000 7,00,000 

Less : Operating expenses  1,00,000 2,00,000 

Net Operating Income  3,00,000 5,00,000 

Add : Non-Operating Income  20,000 25,000 

 3,20,000 5,25,000 

Less : Non-Operating Expenses  10,000 15,000 

          Net  Profit  3,10,000 5,10,000 

          Total Assets  50,00,000 55,00,000 

vFkok 

(Or) 

fuEufyf[kr fooj.k ls dks”k izokg fooj.k rS;kj dhft, % 

 2014  

(`) 

2015  

(`) 

lEifŸk;k¡ %   

jksdM+ 2,500 1,000 

nsunkj 17,000 20,000 

jgfr;k 12,500 11,000 

Hkwfe 15,000 20,000 

Hkou 20,000 22,500 

e’khujh 40,000 43,000 

 1,07,000 11,17,500 
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nkf;Ro %   

ysunkj 10,000 12,000 

ns; fcy 8,000 8,500 

cSad _.k 15,000 22,500 

iw¡th 74,000 74,500 

 1,07,000 1,17,500 

o”kZ ds nkSjku miØeh }kjk O;fDrxr iz;ksx ds fy, ` 18,000 

mikgfjr fd;s x;sA e’khu ij kl ds fy, izko/kku 31 ekpZ] 2014 

dks ` 15,000 ,oa 31 ekpZ] 2015 dks ` 19,500 fd;k x;kA 

From the following particulars, prepare funds flow statement : 

 2014  

(`) 

2015  

(`) 

Assets :   

Cash 2,500 1,000 

Debtors  17,000 20,000 

Stock  12,500 11,000 

Land  15,000 20,000 

Building  20,000 22,500 

Machinery  40,000 43,000 

 1,07,000 1,17,500 

Liabilities :   

Creditors  10,000 12,000 

Bills Payable  8,000 8,500 

Bank Loan  15,000 22,500 

Capital  74,000 74,500 

 1,07,000 1,17,500 
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During the year drawings by the proprietor for personal use 

amounted to ` 18,000. Provisions for depreciation on 

machinery stood at ` 15,000 on 31st March, 2014 and 19,500 

on  31st March, 2015.  

bdkbZ&5 

(UNIT—5) 

5- izcU/k lwpuk iz.kkyh ls vki D;k le>rs gSa \ ,d vPNh izcU/k lwpuk 

iz.kkyh dh D;k fo’ks”krk,¡ gSa \ 

What do you understand by Management Information 

System ? What are the characteristics of a good management 

information system ? 

vFkok 

(Or) 

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, %  

(i) ewY; Üka`[kyk fo’ys”k.k 

(ii) fØ;kRed ykxr fu/kkZj.k  

(iii) thou pØ ykxr fu/kkZj.k  

(iv) izcU/k vads{k.k  

Write short notes on the following : 

(i) Value Chain Analysis  

(ii) Activity Based Costing  

(iii) Life Cycle Costing  

(iv) Management Audit  
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